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69. Suppose that electrical attraction, rather than gravity, ‘,h 16 - ;
GG 21| oo fo wodns e Moon n oot v, 2 ol

the Earth and the Moon, what should be the value of #‘7‘
maintain the present orbit? Use these data: mass . :}‘*

L o —— "
Earth = 5.97 X 10%kg, mass of Moon = 7.35 X 10 k2 7
radius of orbit = 3.84 X 10°m. Treat the Earth and j;_j‘ @ ¥

as point pamcles @
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2. (I) The Earth possesses an electric field of (average) magni- A - 8
ude 150 N/C near its surface. The field points radially inward. R - 6 , t/ X /0 w j
s+ Calculate the net electric flux outward through a spherical o~ ' <
;,g surface surrounding, and just beyond, the Earth’s surface. oo —— """
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d’Z ?,:1 Near the equator, the Earth’s magnetic field points almost .ﬂ /¢ 0/ L0 : ,»f
: i.. horizontally to the north and has magnitude ’r N(
# B =050 X 10T What should be the magnitude and \

direction for the velocity of an electron if its weight is to be s

- exactly balanced by the magnetic force? 1 i 4
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Bt how wust the electo ~ i
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— : ()B4 (\I) Find the direction of the force on a negative charge for .,.j';
- each diagram shown in Fig. 27-40, where v is the velocity of K

az/} . the charge and B is the direction of the magnetic field. H

_ - (® means the vector points inward. © means it points out- v

rward, toward the viewer.) §
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FIGURE 27-40 Problem 14.

;f (I) Determine the direction of B for each case in b
*'Fig. 27-41, where F represents the force on a positively g
arged particle moving with velocity v. 2)
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F v FIGURE 27-41
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&128 55 Near the Earth’s poles the magne etic field is about 1G
& (1 x 107T). Imagine a simple e model in which the Earth’s «( \ {

. field is produced by a a single current loop aro ound the equa-
) ‘K tor. What current would this l oop ca try"
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7. (II) What is the direction of the induced current in the cir-
cular loop due to_the current shown in each part of
Fig. 29-307
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FIGURE 29-30 Problem7.






